02155 X#EH

7= miiEA

M
4N,

I
ZeEAE,

REET :
1) 18R 5
2) XEH

© norelem www.norelem.com



02155 Z#E#H

==
e Ly
02155-0803006 30 | 20 | 13 5 14,4 M8 M6 x 6
02155-0804006 4 | 30 | 13 5 14,4 M8 M6 x 6
02155-1003808 38 | 24 | 17 6 18,9 M10 M8 x 8
02155-1004808 48 | 34 | 17 6 18,9 M10 M8 x 8
02155-1205110 51 33 | 22 7 24,5 M12 M10 x 10
02155-1206610 66 | 48 | 22 7 245 M12 M10 x 10
02155-1606212 62 | 40 | 27 | 10 30,1 M16 M12 x 12
02155-1607712 77 | 55 | 27 | 10 30,1 M16 M12 x 12

© norelem www.norelem.com



